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QUESTION 1

The HX Data Platform architectures uses which two data optimization features? (Choose two.) 

A. Non-disruptive RAID recovery 

B. Inline data compression 

C. Post-process data compression 

D. Cluster-wide garbage collection 

E. Inline data deduplication 

F. Post-process data deduplication 

Correct Answer: BE 

 

QUESTION 2

Which three options can a virtual switch do? (Choose three.) 

A. VLAN tagging is done in UCS Manager 

B. Virtual Machines with a trunk port imposes the VLAN tag 

C. Impose the VLAN tag allocation 

D. Set IP Class-of-Service bits 

E. Allow physical switch to impose the VLAN tag 

Correct Answer: ABD 

 

QUESTION 3

Which two VSANs are automatically created and cannot be deleted? (Choose two.) 

A. The Virtual Bridging VSAN 

B. The Isolated VSAN 

C. The Fabric Control VSAN 

D. The Default VSAN 

Correct Answer: BD 

 

QUESTION 4
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You are creating a Local Disk Configuration Policy to be used by a new Service Profile for your UCS Server. Previous
Service Profile had a Local Disk Configuration Policy set up for `No RAID\\' and the `Protect Configuration\\' box was
checked. This time, you choose `RAID 1\\' and deselect the `Protect Configuration\\' checkbox. 

What are the implications of this change? 

A. The Service Profile association process will fail because you cannot change from `No RAID\\' to `RAID 1\\' 

B. The Service Profile association process will fail because the policies are different and the `protect configuration\\'
option was checked 

C. The Service Profile association process will succeed, but your total disk capacity will be cut in half due to the change
from RAID 0 to RAID 1 

D. The Service Profile association process will succeed, but it will adopt the previous Local Disk Configuration Policy
instead of the new one because it had `protect configuration\\' checked 

Correct Answer: B 

 

QUESTION 5

What are the RAID levels available in the mode drop-down list of the Local Storage Policy? 

A. RAID 0, 1, 5, 10 

B. RAID 0, 1, 3, 5 

C. RAID 0, 1, 5, 6, 50, 60 

D. RAID 0, 1, 5, 6, 10 

E. RAID 0, 1, 5, 10. 50 

Correct Answer: C 
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